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L If the sum of the two roots of a quadratic equation is % and the product of

the two roots is —15, then the guadratic equation is:
(@) 23 +75-30=0

(b) 2x* —7x-30=0

(c) 2x* +7x+30=0

(d) 2x* ~23x+105=90

(e) 2x* —23x—105=0

2. The product of all the solutions of the equation

(Bx—5V5 +63s-5)% = -8 is equal to:
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3. The solution set of the inequality ix“ +7x+11 =1, in imerval netation is:

@ CmmslUbe U2
(B} (—==, =51 J[-2. =)

(c)[—-Z, )

@ 4,-3]J(-2,%)

(&) oo, =53] J[-4 =)

4, T_he length L of a rectangle is 3 fest less than twice its width W.If the
perimeter P of the rectangle is 174 fest, then the lepgth L is equallto'

{a) 30 feet
(B} 37 feet
(¢) 60 foet
(d} 33 feet

(2} 63 fesr
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3. The standard form of an equation of a circle that is tangent to both axes, and has its
center in the third quadrant, and has a radius /5 is given by

(@) (x+\/§)2+(y—-\[§)2=\/§
®) (x=~5) +(y+5) =5
(€ (x+«f5')2 +(y+\/§)2 =35
@ (x=5) +(y-5) =5
& (x=V5) +(y—5) =5

6. A ball is thrown directly upward and the height function is given by the equation -
h(t) = —16£* + 80¢ +32

where ¢is time in seconds. The time interval in seconds for which the ball will be more
than 96 fect above the ground is:

(@) (2,8)
(&) (2,5)
(c) (3,6)
(@) (4,8
(@) (1,4)
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7. F(x)=x"—4x for x22, ther f '(x) andits domain D are given by:
(@ 7 (x)=—2-vx+4 and D={-2, «)

B S (x)=-4+Vx+4 and D=[-4, «)

() S x)=2xx+4 and D=]2, =)

@ fx)=2-vVx+4 md D=[4, «)

(e) f{(x)=2+~x+4 and D=[-4, =)

8. The largest negative integer that is a lower bound for the real zeros of
SR =3 +7x —x43 is

(@} -2
(6) -5
(e} -4
(d) -3

() -1
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9.0 f(x)=-x"+4,then ; isincreasing on the interval:

(@) (—=,2)
(B) (—o0,0)
(¢) (0,)
(@) (-2,2)
(&) (2,2)

10. The graph of the equation x? =lx— y’[ is symmetric with respect to:

(2) y-axis only
(&) x-axis only
(¢} origm only
(d) x-2xis and origin
(¢) y-axis and origin
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11. The eraph of g(x) =~/—x—1 =2 could be obtained from the graph of 7 (x) = v'x by:
(@) wanslating 1 unit right, 2 units up and reflecting across the y-axis

(B) translating 1 unit left, 2 units up and reflecting across the x-axis

(¢) translating 2 units left, 1 unit down and reflecting across the y-axis

(d) wanslating 1 unit left, 2 units up and reflecting across the y-axis

(e) translating 1 unit left, 2 units down and reflecting across the x-axis

12, Which one of the following functions does not have a horizental asymptote?

(x=3) (x-2)

(@ fe= E22
X ~8
) Fio= 22T
x+3
L
@ I@= 5
) f(xy = 3x
@ s = 2
(&) flx) = X +2x

x—1
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13. The graph of the function
x—4xt+3x

f@=t—
(a) only one vertical asymptote given by x=-1

(b) only one vertical asymptote given by x =1 )
(c) two vertical asymptotes givenby x=-1and x=1

{d) a slant asymptote givenby y=x

() three x-intercepts

14, Let
=2 if x<l
fx=

x+2 i x=1
If —10<k<-5 then f(—k)+ F(k) is equal to:

(@) —k:—k—4
(B) k2 —k—4
(¢) K2 +k+4
(@ K-k

(e) k —k*
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15.1f { is a zero of f(x)=x*-x -3¢ —x-6, then the sum of

all its real zeros is:

(@ 1
(0 2
(e) -5
@ 0
(&) -1

16. The polynomial p(x)= —2x° +5x* —4x+12 has a real zero between:

{a)}2 and 3
(&) 1 and 2
{¢) 0 and 1
{(d) -1 and O
(e) -1land -2
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17. A polynomial of lowest degree with only real coefficients having
—2;,iand O {multiplicity 2)as  2€7105 18!

(a) ** (x2 —4)(x2 —-1)

(b) x* +35° +4x°

() x® +7x* + 427 )
(d) 28 +52* + 4

(g) x° +8x* +4x7

18. The graph of the polynomial fimetion  f'(x) = 5x° —4x" + 17x* +2 goes:
fa} upio left and down to right with at most 4 turning points

(B) down to left and down to right with at most 1 turming points

(c) down to left and up to right with at most 4 turming points

(d) up to left and up to right with at most 2 turning points

(e) down to left and up to rght with at most 5 turning points

P18
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19. Which one of the following is a polynomial 7

x+3
a) ———————
() o rx+l

(b) »+3x7' 42
(c) 5
@ Nz +x+4 :

(e x% +5x% -2

20.Which one of the following statements is FALSE?

(a) If r is a real number, then \/7* =r
(5) The set of rational numbers is commutative under multiplication
(c) The set of irrational numbers is not closed under addinon

(d) For any real numbers @ and b, la+ < la|+ 2|

(&) 1 is the only positive integer that is not prime and not composite
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21. The expression (zx—zy : )_2 (_ 4y )3 simplifies to:

_2xl2

(@) 11

o

. ‘

(®) = S
¥
leﬂ

(c) =

Oﬁ 10

(¢} —3

22. The solution set of the equation
dx—3 2x-4

2x x-—2

containg:

(@) two positive integers
(b) one positive integer
(¢} onenegative nteper
(d) no real number

(e) two negative integers
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23.1F 7 = (5- %) (- 2-41) + -1 ~—4 then the conjugate = is:

(a) 2-14
(B) —24+14i
fc) 24—14i
(d) —24+26i

(2) 18414

24, The followmg raticnal expression

X +3x-10
(x+H(x—2)

(x+3)(x—86)
25" —15x+18

{a) 3x-2
(B)
(e) -

(d)

(£)

FRx HNO.

I T T

is equal to:
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25, The polynomial p(x)=5x® +2x% +4 has:

{2) no rational zeros

(b) six rational zeros

(c) two rational zeros and four irrational zeros

(d) two rational zeros and four nonreal complex zeros

(e) four rational zeros and two frrational zeros

26.If p(x)=35%" +6x° — 5x+7 is divided by (x—i), then the remainder is:

(a)er]3es i
(b) 6 w51
{c)6+51
(d) 185
(e) 18+5i
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97. Which one of the following siatements is FALSE?
(a) The slope of a horizontal lme is zeto,

(b} The slope m of the line passing through the points (. » ) and (%20 2)

15 given by

-V
m:}’z M X %
Xy —Xg

(¢) The slope of a vertical line is undefmed.
(d) Parallel lines have same slopes.

() Twa non-vertical lings are perpendicular if slopes are negative reciprocal
of each other.
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28.1F f(x)=v16—x" and g(x)=x" —7x+10, then the domain of [-‘7—(-] (x) is equal to:
‘ g

(a) [~4,-231)(-2,4]
(b) (42U

(O [-A2DU(2,4]

(d) (o0, —41U[-4.0)
(e) (2,4]



